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2
= 549. 4(kN)
HIVER SR SRIERKLL S O BE R
I. %XZX(M
Yo — (y(» +y(—Aj: 14 + ‘W = 14. 095(m)
BHEREAE O SBEEN
fil 2-2 1———vL.—(.H—L)=l4,095—(.8 0—4)
- sina sin 30

= yp—12=2.095m
HHXE OMAE M, = P X1 =1150.91(kN « m),

Bl 2-3 WEFR.EH—EES MY ERERITHEAKE,. M a = 45°, W] %

b=2m,WITEG=19.6 kN, JKEh, = 1 m,h, = 2m,WTA] AL O SFRE . RFFE W
(et Er & HL S T.

FR - A B L T T A ARG JE K 2R 5 0K - T AE
KAWL R O b FRETTER HL H v il o 2
B TR AR AR .

R AR 8 () AR A

h,

2
l <ina > /2(m)
2

_____________

>
1Kl
Q

IFe] A (49 T #H

A=I1Xb=2J2X2=44J2(m") Wl 2-3 [
HABENRFEHEREERT, B
H2% X 7 A R AE I AR b AR X &

P = og (h, +he)A = 9810 X (1 +% X 2)>< 442 = 110. 99 (kN)
Za IER S E R

o /I] _1. hg o
Y€ T Sind5° ' 2 sind5° 242 m

I(u:h[J:-J—M 2\/53: 8

12 12 ?ﬁ(m‘)
%ﬁ 13
yo =224+ — =22 /5(m)
Y 2V2x 442 6

VIR IR 1D B By 0 55 B9 1] B BOREoh T, AR A 1 46 5 . A

< 10 -



BE RABNLZ

T-l-cosaIG-%cosa-f-P(yn—h—l)

;
110.99 X — 2
_ G Py, —+2) _19.6 ' 6%
T=SJ+—p ==k 5 = 101. 36 (kN)

Bl2-4 WERR—FHFPEFEWHMKMEOEEL =1m, KEEE, =2m.h;, =
3m,a=45",py = 800 kg/m’ KA X B FE FE V- AB HITER I R HAEH SBEE A &
B B L

|

1"
4

|

@ 2-4 A

R E SR B AUK W 1 m A TAE T 0. 8 m 9K,
WE ) B REHRE IS EE, UL O RNES  FRAEMNEX Yyl MEHT
4R, B AR R .
R A A AR A TR
S =hy/sinaxX1=3/2m’
(1) Wkt B0 FERE AR AB (B KRS P R

P — P(S = [Po;lgh] +pwalurg X (’12 _{'_%)]X hg/Sin 450

= [9.81 X 800X 1+9810x (2+1.5)]X 342 =1.79 %X 10° N
(2> FER AL E

ye = (W' + hy +%h3>/sina = (o.8+2+ﬁ)ﬁ= 6.08 m

2
[3'\/?13
I 12
o= ye+ & =608+ —22 __ —6.33m
P yeS 6.08 X 342

HEASBEEN0.8+2+3) x/2—6.33=1.87 m.

Bl2-5 WMERRBEWITAB.HK¥RBR=2m.%b=2m.H=1m,i+8¥ I
ZHE KN E T,

M. (1) KEZH
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